
8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0.141

0.142

0.143

0.144

0.145

0.146

0.147

al
ph

a1
3_

4e
X

1X

alpha13_4eX1X:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

0.5

1

1.5

2

2.5

3

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0.47−

0.46−

0.45−

0.44−

0.43−

0.42−

0.41−

0.4−

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

0.05

0.1

0.15

0.2

0.25

0.3

0.35

0.4

0.45

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7185}



8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

100−

80−

60−

40−

20−

0

us
l_

1X
usl_1X:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

0.5

1

1.5

2

2.5

3

3.5

4

4.5

5

us
l_

4a
Y

usl_4aY:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

10

20

30

40

50

us
l_

4e
X

usl_4eX:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

2

4

6

8

10

12

14

16

18

20

22

us
l_

4e
Y

usl_4eY:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

40−

35−

30−

25−

20−

15−

10−

5−

0

us
l_

12
X

usl_12X:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}



8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

160−

140−

120−

100−

80−

60−

40−

20−

0

us
r_

1X
usr_1X:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

1

2

3

4

5

6us
r_

4a
Y

usr_4aY:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

20

40

60

80

100

120

140

160

180

200

220

us
r_

4e
X

usr_4eX:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

2

4

6

8

10

12

us
r_

4e
Y

usr_4eY:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

40−

35−

30−

25−

20−

15−

10−

5−

0

us
r_

12
X

usr_12X:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}



8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

32000

32050

32100

32150

32200

32250

32300

32350

32400

us
l_

co
il1

usl_coil1:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

6500

6550

6600

6650

6700

6750

us
l_

co
il3

usl_coil3:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

1000

2000

3000

4000

5000

us
l_

co
il4

usl_coil4:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

1000−

800−

600−

400−

200−

0

us
l_

co
il6

usl_coil6:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

2000

4000

6000

8000

10000

12000

14000

16000

18000

us
l_

co
il7

usl_coil7:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}



8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

29000−

28500−

28000−

27500−

27000−

us
r_

co
il1

usr_coil1:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

5700−

5650−

5600−

5550−

5500−u
sr

_c
oi

l3

usr_coil3:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

500

1000

1500

2000

2500

3000

3500

4000

us
r_

co
il4

usr_coil4:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

1000−

900−

800−

700−

600−

500−

400−

300−

200−

100−

0

us
r_

co
il6

usr_coil6:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

2000

4000

6000

8000

10000

12000

14000

16000

18000

20000

us
r_

co
il7

usr_coil7:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}



8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

427−

426−

425−

424−

423−

422−

421−

420−

419−

418−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

71.2−

71−

70.8−

70.6−

70.4−

70.2−

70−

69.8−

69.6−

69.4−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

5

10

15

20

25

30

35

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

485−

484−

483−

482−

481−

480−

479−

478−

477−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

94−

93.8−

93.6−

93.4−

93.2−

93−

92.8−

92.6−

92.4−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

5

10

15

20

25

30

35

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7185}



8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

20

40

60

80

100

120

140

160

180

4a
Y

_c
oi

l4
4aY_coil4:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

5

10

15

20

25

30

35

40

45

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

12−

10−

8−

6−

4−

2−

0

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

20

40

60

80

100

120

140

160

180

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

25−

20−

15−

10−

5−

0

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

10−

8−

6−

4−

2−

0

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7185}



8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

250−

248−

246−

244−

242−

240−

238−

236−

12
X

_c
oi

l1
12X_coil1:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

88−

87.5−

87−

86.5−

86−

85.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

10−

8−

6−

4−

2−

0

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

0

2

4

6

8

10

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

500−

450−

400−

350−

300−

250−

200−

150−

100−

50−

0

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7185}

8293 8293.5 8294 8294.5 8295 8295.5 8296
cyclenum

7183

7183.5

7184

7184.5

7185

7185.5

7186

7186.5

7187

ru
n

run:cyclenum {run == 7185}


	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8


